@ x=3x-1 O 2x-1=x+4

©® x*+3=x @ 3x+1=3(x-1)

E
@3x+1=3x-3->53x-3x=-3-1->0=—-4(
ohit.)




DY4x -1 =2x @ x2-x+1
@gx+1: ® 6x>x+1

=0 ® 5x+2

@x2-x+1=0: "xF9 H1
® 5x+2 1 SAl°] ofYrh.

#go] 237t ot

2ol
@ 6x > x+1: T27tohd F5L7HAMEH 4oz RFAolr,




H7
@ 4(1-x)-4x=0 O 2x+7=7+2x
© 1+x-x2=1-x2 ® 2=2x+ 3x?
@ 3x+8=2x+1

v V. v Vv
0
o ol
®

0x
n
@

~&B

M4 -4x-4x=0, - 8x+4=0
O2x+7-7-2x=0,0=0
©l+x—x2-14x2=0,x=0
@®2-2x-3x2=0
@3x+8-2x—-1=0, x+7=0




e 3 QAT L

@ bx-7
@x2—4x:x2+3x—1
® 3x-2=3(x+5)

@ 2x-4=2(x-2)

® 3(x-2)+x+1=2(2x+3)

B

ORIPIES]
@x2—4x—-x2-3x+1=0

—Tx+1=0: 9AFAA
®3x—2+#3x+10: AR 54
@ F5A]

®4x-5=4x+6: AR 54|




the = QxjarA Aol A

©9
= O 01 = AT,

D x-x2=2x2+1 @Q(x—l—l):x
®T7-2=5+2 @ 2(x+1)=2x+4
® xxx=16

B

D3x2-x+1=0: gxPFA2o
®@ B4} e n e AR
@2(x+1)#2x+4: AZS T4
2 =16 : AALEA) ofg

o] oby
o] ohit.
Al




@ax-12 @ ax-s ® a%0

42-3x) =ax+6
8—12x=ax+ 6
—12x—ax+8-6=0
(-12-a)x+2=0
—12-a+#0, a+-12




ohe 3 QAP Aol ohd AL

O x+6=2x-T+x @ 4(x+3)=12
@xZ—Z(x—i—l):l—x @ x-1=-x+1

® x(x-5)=10x+ x>+ 1

B

@ x?-2(x+1)=1-x
X -2x-2=1-x

2 -x-3=0

2psio] YpAlo] ohim 2 AP o] opct,




@ 3x-5=x+5

© ¥+2x+1=0

® 10-7x=10

® 4(x-3)=-12+4x

@ —x24+2x—7=x+x2

.

ull

-

ul




9. 4x-3(1-ax)=-5+7x 7} x o T3t dapFAAlo] x|7] 9gt
a o zAL?

®a=1 @ a=3 (@)ail
@ a+-1 ® a+3

B

dx-3(l—ax) = -5+ Tx

4x -3+ 3ax = -5+ Tx

4x-3+4+3ax+5-7x=0

B3a-3)x+2=0

spH o] dapalo]ofof StE R x O] A4} 0 o] ofy ofof ghr
3a—-3#0

3a+3 .. a#l




10.

5(3—ax) — 7Tx = 8x— b 7} x o] T3 ApFA Ao &7] 9 27

29
® a=-3 @a¢—3 ® b=-15
@ a+-15 ® b+-3

~&B

5(3—ax)—Tx=8x-b

—5ax—15x=-b-15

(ba+15)x=b+15

a=-3°" x9] AlF7}00] HE=E LA Alo] ==] ¢
Sa+ -3




